TWOLINES     (by Joe Erdeky, erdeky@inbox.com)

Enter the coefficients A, B, C for each line in Ax + By = C form.

Hint:  For the equation x = 5, think  1x + 0y = 5

The screen shows exact solution and the intercepts of both lines.

Press ENTER and TRACE to see the graph with decimal solution.

Press the right and left arrow keys to jump from intercept to intercept.
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Graphs two lines and finds the intersection.
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==============================================================

Finds the intersection of two lines and the intercepts of each line.

Shows the graph with the intersection and intercepts labeled.  

